Modular directional control valves for tractors [E{e1]0]

LSC90 - Load sensing modular directional control
valves for tractors

Before use, carefully read the GENERAL INSTRUCTIONS FOR USE OF DIRECTIONAL
CONTROL VALVES

BONDIOLI I_:.] 398SDCO06ENOO - 27-08-2019 1
& PAVESI



Technical data

; 100 I/min
Nominal flow 26.4 US gpm

: 250 bar
Nominal pressure 3625 psi

‘ 20 bar
Maximum tank pressure 290 psi

Internal leakage
(AoB->PandT)
p=100 bar (1450 psi)

< 15 cm3/min
0.91 in3/min

Internal leakage with zero
leakage valve

< 3 cm3/min
0.18 in3/min

Temperature range

-20°C +85°C NBR seals
(max peak +100°C)
-20°C + 130°C HNBR seals

from 15 mm2/s to 90

Oil viscosity mm?2/s
(15 cSt to 90 cSt)
Hydraulic fluids as
Fluid defined in ISO 6743-4
standard
Sectional

©

STANDARD version

398SDCO06ENQO - 27-08-2019

BONDIOLI
& PAVESI

o)



Dimensions

27.5[1.08]  47.5[1.87] 40[1.57] 45[1.77] 263.1[10.36]
62.1[2.44] 168[6.61] 33[1.3]
[ 1] P
ie ) ©
g ~ P Fao o o ° il 1WASLO1 DATA
% el - - S o@ o@? RS i 5 — MADE IN ITALY,
R 8| W o X — o
"7 8 g 1P 5 ¢ © @
& Il ] T
| |
T | M10 H M10
42.5(1.67 L 11.5[0.45]
15[0.59)]
o B1 B2 B3 B4
I~y
O o
i i
& @ —
S olojof
S © f
R ]@
gl < s
- N~
® o @SN @S\ @ ﬁ&\;
g \/ .
&
8 ® & &
A1 \A2 \A3 \A4
Dimensions per number of sections
Code N° of sections L Weight
mm in kg Ib
E 1 88 2.60 17 37.5
@ 2 130 4147 23 50.7
E 3 172 5.75 29 63.9
E 4 214 7.32 35 77.1
E 5 256 8.90 41 90.4
E 6 298 10.47 47 103.6

BONDIOLI
& PAVESI

o)

398SDCO06ENOQO - 27-08-2019



Characteristic curves

[bar]

LSC90

Pressure drops P-T

=] Q7 Q-
muEEEEEEEEEEEE S 8 8 883
| | | | | | | m O O OO0
SR A O S I I (OO O D A B o @ @ o
| | | | | | | = e © = e ©
I I I I I I I o CONINCL e — £ L ,//” 0 1 R Y
| ” | | | | o) S S0 N ) I — S I N VU S ) O el o
I I I I I I N / RN EEER = L NN |
I I I I I I | o = | NN
s orarorer=ferereeereFogioa=T | | i\ | | | | | | | O TN IR I VI S VN VI I O %
RN R BN
| | | | | | | THHERAXY R IHERNHEHBHBEEE
| | | | | | | o L NN e o MN e ]]
| | | | | | e AR ”,7,1 VT TR ‘w/wx,w R
I I I I I I I o INN T I T N I NN R
R ) 1y N S S N N T NG A I N B (=) N B I I A S A A Y =]
| | 0 A I Ry I T T TSN T T | o A g,,//f, | %
I I I I I I I [ T O A [ T O A 0 B T I A B I [ A
0 0 0 0 0 0 0 o Sy et ) Y O Ay LT C Ay N
| | | | | | ]| N )2 ] I I I I B\ O R R e
I I I I I I I ol N o el N o
R I S BT SRE AR o TN TS 8 TR T T R
I I I I I I I = [ T O I A T I A = 0 A N T T I o N I N I
I I I I I | i o = Y S T ) (O N A A ) VI = N V) ) AV VA R O
: : : : ) = R\ = O Y N
| | | | | | | E L N o e N e
IR I I VI I T e A L LI A T A o T e e o T T L B T B B W T B I R (7
| | | | | | | Q. oINS Q. AR A
| | | | | | | w O B i B, W A w T Y ) ) o A O N A o
I I I I w oo R\ o e N
| | | | | | 2 I U I\ I Y= o L L LN ]|
I I ) | i i i [0) I Y I B I\ \ o) [0) BN )
il it il Sl el el st Bl Bl el Bl — [ R T TR I TR A A .\ VO I = 0 T N T T T B A I |
| | | | | | | (0] 1 O O\ W I (0] R R RN NN . AN
” ” ” ” ” ” ” e £ AR R ,w/ T m TN 4,/4, 0
i i | i i i i S T T T T N N IO N (R VA O 0 T AT T R A A B R A W
\ o o
| | | | | | | © R R mh © T |
wwwwwwwwww o e T T TR I ) I I
| | B IR Q SR O o I B A A e \ Q N R RN RN AR RN N R R
I I I I I I I o [ ot o e e e i \ o ! Ay i VA
” ” ” ” ” ” — & £ ol Y e £ bbb Y e
| | | | | | | k7] R @ k7] o TR | @
JER T N O S A P B ) [0 I T (T I I IR B | W @ 0 T T T T Y A I A
T = e = R = R PR L b b i
| | | i i i | o 0 T T T T I T O Y T T T T T T I O O
T T T ~ | o o RN R R NN R o
2o | | | | AR R 2y
-0 S| I R O S I T ol ] CE AL
O m % ” ” ” ” ” (@] m r\\”\ 4\\, RN O (@] S | | | (N | | | | [
| ¢ a I I I I I o = [ R T O T I A A I S T N N I O I I
3 & , , , , R -8 & R I I R B R & HHH R S
T I I I I I 0o [ R T O T I A A oo e
I | | i i T T T I (O N I e
M nH_v o fror T T M M A== === g ==[F 5 = 1 =5=[F nH_v M [ U S S Sl S S I S
© & I I I I I O S [ R T O T I A A S T I N I B A I
LT ) ) ) ) i (P Eren AP I P Ern B PSP N ) P
- ©® L N O © ™ O Srooo~0OTO®AN T O Stoaurooo~0OTONTO
(e} = S T = _T T T T

2>T

=>T
=>T

O|O
O|O

O|Oo
O|O
O|o
O|O

B1V
B1V

P>

Pressure drops B1-T with zero leakage

Pressure drops B1-T

[I/min]

ZoMRIeY 19)

Testing parameters: Spool type

398SDCO06ENQO - 27-08-2019




LSC90

Q [I/min]

Characteristic curves

Adjustment curve with flow limiter

6.0 6.5
mm

5:5

3.0 3.5 4.0 4.5 5.0

Testing parameters: Spool type

25
398SDCO06ENOQO - 27-08-2019

2.0

1.5

1.0

0.5

o
O©r=—
3.0'.
[ IR EEEE R RN R R AR
P I I I I I I I I I
q-r -= 1= = il s Bl e il Bl i Bl il |
\ [ T T I T A B
AR R R R R R
\ | | | | | | | | |
NEEEE AR RN R R R R
S ol A e R
o AN
[\ O S R e
ANNEE R R R R
- \| ~ ™ T T L i E e S A e A |
ARNSERE R RN R R R R
SN I\
AR R R R R
rrn/ ST
I I I | I I I I I I
0 I I I I I I I I I
— AR EERANE R R R R R
[ AT A A N U T O I R
N A "N N IO IO IO
| | | | /, | | | | |
NN
RN
A A T N I N | O A N
S A R W\ O
L NN
I I I I I I I I I I
= AR VL VN
o) AN
R (N O N A S Yt
A REEE RN R R SN R
T R T I T T A B AT B
I I I I I I I ; I I
T T T T T T T () T T
I I I I I I I I I
O N T
I I I I I I I I I
RN RE RN RE R R R
I I I I I I I I ,— I
o | | | | | | | | | |
b e Ry
HAREEEEE R RN RN R R
Ce e e e ey
T T T T T T T T T L\
EREEEREEE RN R AR ,y
I I I I I I I I I I
e T i T A e E e S R e B
I I I I I I I I I I
I I I I I I I I I I
ST I ) O N A I
I I I I I I I I I I
I I I I I I I I I I
FC < S Tl ol e Bl i il e Bl
Lo [ ]
o= I T O O
\m ERC- RN
B @O ala]]
(@) -0 _ (- I
= = I I I I I I I
c A B
- c T T B T L L L L L L
(0] ZTO O O O O 0O 0O O O O O
4+ EO O O N OO T ® N +—
(O] =

ZopRieL 19)



Inlet cover type

LSC90

E Centre open (pump with fixed flow rate)

240[9.45]

[e]

(o]

fr )\
&9
>

N

47.5[1.87]40[1.57]40[1.57]40[1.57] 45[1.77

$ONAY

27.5[1.08]

o
i#) 0.0, O

[2eL]1e

[99°¢]€6

[res]sel

[1679]G°GLL

1
o L -
. T
, s
PO £
m \
. i~
o © ;
= - m =)
3 s
/ ©
W. Il
N,
g |
|
7 [ove]88
[reslgel
m M
(I |
[ Tol,
)

ZoMRIeY 19)

398SDCO06ENQO - 27-08-2019



Inlet cover type

Centre closed (Load sensing pump)

240[9.45]

263.1[10.36)

27.5[1.08] 47.5[1.87]40[1.57]40[1.57]40[1.57] 45[1.77 62.1[2.44] 168(6.61] 33[1.3
B A
g B e
P
g f\? fao o o o 1WASLO1 DATA
e &) C} O | © (L] — MADE IN ITALY ] :I}EHk
S| @ «~| LS o o o o o
LN 0,
8 g = H 8 ¢ O
2| & | =
e (@) 0000k s
| |
| |
T M10 M10

BONDIOLI
& PAVESI

o)

398SDCO06ENOQO - 27-08-2019



Thread ports

Thread port P

Code

Type

Torque + 10%

Thread port T

Code

Type

Torque = 10%

Nm Nm
1/2" GAS ISO 1179 70 1/2" GAS I1SO 1179 70
E 3/4" GAS 1SO 1179 150 E 3/4" GAS 1SO 1179 150
@ M22x1.5 ISO 9974 70 @ M22x1.5 ISO 9974 70
M22x1.5 1SO 6149 70 M22x1.5 1SO 6149 70
E M27x2 ISO 9974 150 E M27x2 1SO 9974 150
@ M27x2 ISO 6149 150 @ M27x2 1SO 6149 150
E 7/8" - 14 SAE ISO 11926 70 @ 7/8" - 14 SAE ISO 11926 70
1" 1/16 - 12 SAE ISO 11926 150 1" 1/16 - 12 SAE ISO 11926 150

Thread Port LS

Torque + 10%

Thread ports A - B

Torque + 10%

Code Type Nm Code Type Nm

@ Not processed 1/2" GAS ISO 1179 70
1/4" GAS I1SO 1179 27 @ M22x1.5 SO 9974 70
@ M14x1.5 ISO 9974 27 M22x1.5 ISO 6149 70
E M14x1.5 ISO 6149 27 E 7/8" - 14 SAE ISO 11926 70
E 9/16" - 18 SAE ISO 11926 27

398SDCO06ENQO - 27-08-2019

ZoMRIeY 19)
__DINOIL |



Gauge ports LSC9O0

MP and MT - Pressure gauge inlets

T Ve I[m\ N T
i | 1 L1 | |
=SS l
7

)

~__A4

[©)

A3

[©)

A2

[©)

A1
O
MP
MT
Thread Port MP Thread Port MT
Code Type Torqu'\tle;l 10% Code Type Torquﬁr: 10%
@ None 1/4" GAS I1SO 1179 27
1/4" GAS I1SO 1179 27 @ M14x1.5 1SO 9974 27
@ M14x1.5 ISO 9974 27 E M14x1.5 ISO 6149 27
E M14x1.5 ISO 6149 27 E 9/16" - 18 SAE ISO 11926 27
E 9/16" - 18 SAE ISO 11926 27
BONDIOLI I_:.] 398SDCO0BENOQO - 27-08-2019 9

& PAVESI



VMP

LSC90

VMP - Maximum relief valve, P and LS line

27.5[1.08]

s)
)
V2

240[9.45]

® ®
3Ic
®

&Y

45[1.77] 40[1.57]40[1.57]40[1.57]47.5[1.87

_i@

263.1[10.36]

L

2 o 4 -

TCE
_ 3
© E
m @—x_ _m M
: Tt

g

| ©

7 ¢ i
N o ]
— © THH

|

4{

| @ [ovc]88

[Le'ggel

[16'9]5°G2L

V2

ZoMRIeY 19)

398SDCO06ENQO - 27-08-2019

10



LSC90

Element options

| A | Flow regulator

g | —
| /e
> NS
Sk : \M
S| s, =
| «© u
:
©
- i
M 1IN0l
1
rd \Ba_ ]
~ 1T | |
= s—d |l hﬂ
2 e
& Yo \J
e °D) 30%
1% Y, gw
s 2 ‘© )
I & Yo <
2 °M
: ~o
\Z4N\
= o e =
W [ev'L]9e
[16'9]G°GLL

B3 A3

B2 A2

B1 A1

11

398SDCO06ENOQO - 27-08-2019

ZopRieL 19)



LSC90 Actuators

Without lever holder, flat appendix Lever holder kit

o] [l

20.7[0.81]

$18[0.71]
©»9[0.35] ‘

M10 _,

78(3.07]

152[5.98]

93[3.66)

Cable setting

$24.7[0.97]
M16x1.5

111.5[4.39]

86.6[3.41]

12 398SDCO06ENOO - 27-08-2019 BONDIOLI
& PAVESI I'g



Spool types
Spool type Positions
1 o 2 3 1 0 2 4
B A
- P—B P T P—A
Fivlr iy | 2 A-T | AB—| | B-T
PLST
Spool type Positions
1 o 2 3 1 0 2 4
B A
Fiy [ T¥] A AT P— BT
PLST
Spool type Positions
3 1 0 2 4
! B ° A 2 4
T T ] P—B P, T—| P_A AB T
Ll e A>T | AB—  B-T P

BONDIOLI 398SDCO06ENOO - 27-08-2019
& PAVESI I':.]
| _DINOIL |



Spool control

1 0 2 1 0 2
Neutral position in 0 Detentin O, 1, 2
1 o

2 4
Neutral position in 0, detent in 2,
4

1 o

AW

Detentin1,0, 2, 4

AT

14

398SDCO06ENQO - 27-08-2019

BONDIOLI
& PAVESI

o)



LSC90

Zero leakage option

| A | Zero leakage port A

MADE IN ITALY

15

398SDCO06ENOQO - 27-08-2019

ZopRieL 19)



Zero leakage option

LSC90

Zero leakage port B

B1

0

MADE IN ITALY

N° FIG.

ZoMRIeY 19)

398SDCO06ENQO - 27-08-2019

16



Lever options

Straight standard knob

Code Description h [mm] h [in]
E Straigrlltn gtgndard 109 4.3
Straig% (s)tgndard 134 508
Straigrlltn (s)tgndard 184 704 [ ]
@ Straigrlw(’:q (s)tgndard 214 8.42
E Straigklltn gtgndard 254 10
E Straigr'l’:q gtgndard 304 11.97
U
Ergonomic lever
Code Description h [mm] h [in]
Straight vertical 180 7.09
@ Bent 15° vertical 180 7.09
@ Bent 30° vertical 180 7.09
@ Straight horizontal 180 7.09
Bent 15° horizontal 180 7.09
@ Bent 30° horizontal 180 7.09
BONDIOLI 398SDCO06ENOQO - 27-08-2019 17

& PAVESI

o)



Closing plate

With hitch-control valve

262(10.31]

37[1.46] L

42.5[1.67]

175.5[6.91]
167[6.57]

127[5]

67[2.64] 40[1.57] _ 75[2.95]

B1 B2 B3| B4
T

P

@

122.8[4.83]

231.3[9.1]
190)]
O]

320.8[12.63]
87.4[3.44]

89.5(3.52]
21.1[0.83]
N
191

A1 |A2 A3 |A4

103[4.06]

 92.8[3.65]

166[6.54]

23.4[0.92]

94[3.7] 48.6[1.91]

®

18 398SDCO06ENQO - 27-08-2019

BONDIOLI

& PAVESI |'§]



Closing plate

Electrical characteristics of the V2 valve

Electrical characteristics of the V3 valve

Voltage 6 V (+ 10%) Voltage 6 V (+ 10%)
Resistance 1.63 Q (+ 7%) Resistance 1.8 Q (+ 7%)
at 20°C : * 17 at 20°C : SR
Minimum Minimum
poffeblest 1200 mA (+ 5%) poffeblnat 700 mA (+ 5%)
Maximum Maximum
bl 3700 mA (+ 5%) pogpidlon! 2100 mA (+ 5%)
PWM 100* Hz PWM 100* Hz
*Recommended *Recommended
Thread port H - Hitch control valve
Code Type Torqu'\tle mi 10%
o]
1/2" GAS I1SO 1179 70
@ M22x1.5 ISO 9974 70
M22x1.5 ISO 6149 70
@ 7/8" - 14 SAE 1SO 11926 70
BONDIOLI 398SDCO06ENOO - 27-08-2019 19

& PAVESI

o)



Instructions for ordering

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
1 Number of sections
1 1 section 3 3sections 5 5 sections
2 2 sections 4 4 sections 6 6 sections
) General options
N None V  Black paint Z Zinc plating
3 Inlet cover type
— A Centre open (pump with fixed B Centre closed (Load sensing
flow rate pump)
4 Thread port P
B 1/2" GASISO 1179 N M22x1.51S0 9974 5 M27x21S0 9974 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 J M22x1.51S0 6149 U M27x21S0O 6149 V 1"1/16- 12 SAE ISO 11926
5 Thread port T
B 1/2" GASISO 1179 N M22x1.51S0O 9974 5 M27x21S0 9974 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 J M22x1.51S0 6149 U M27x21S0 6149 V 1"1/16-12 SAEISO 11926
6 Thread Port LS
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4" GASISO 1179 K M14x1.51S0 6149
7 Thread port MP
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAEISO 11926
L 1/4"GASISO 1179 K M14x1.51S0 6149
8 Thread port MT
L 1/4" GASISO 1179 3 M14x1.51S0 9974 K M14x1.51S0 6149 P 9/16" - 18 SAEISO 11926
9 Options on ports MP - MT
A '1\34592% rocessed, MT C MP and MT open E MP open, MT plugged
B MP not processed, MT open D MP and MT plugged
10 11 Maximum pressure relief valve type on P-line
00 VMP replacement plug 15 150 bar 21 210 bar 27 270 bar
10 100 bar 16 160 bar 22 220 bar 28 280 bar
11 110 bar 17 170 bar 23 230 bar 29 290 bar
12 120 bar 18 180 bar 24 240 bar 30 300 bar
13 130 bar 19 190 bar 25 250 bar
14 140 bar 20 200 bar 26 260 bar
12 Sealing type maximum pressure relief valve on P-line
|:| G Grub screw P Sealed N None
20 398SDCO0BENOQO - 27-08-2019 BONDIOLI

o)

& PAVESI



Instructions for ordering

Repeat for each section of the valve

A7 18 19 20 21 22 23

24 25 26 27

L)L

L

000

13 14 Maximum pressure relief valve type on LS-line
00 VMP replacement plug 15 150 bar 21 210bar 27 270 bar
10 100 bar 16 160 bar 22 220 bar 28 280 bar
11 110bar 17 170 bar 23 230 bar 29 290 bar
12 120 bar 18 180 bar 24 240 bar 30 300 bar
13 130 bar 19 190 bar 25 250 bar
14 140 bar 20 200 bar 26 260 bar
15 Sealing type maximum pressure relief valve on LS-line
G Grub screw P Sealed N None
16 Thread ports A - B
B 1/2" GASISO 1179 N M22x1.51S0 9974 J M22x1.51S0 6149 R 7/8"-14 SAEISO 11926
17 Element options
N None A With flow regulator
18 Actuators
(] \é\ggeo#éi!(ever holder, flat L Lever holder kit T Cable setting
19 20 Spool types
01 Spool type 03 Spool type 70 Spool type
21 Spool options
A Standard spool B Nickel-plated spool
20 23 Spool control
OA Neuitral position in 0 PT Detentin1,0,2,4
; Neutral ition in 0, detent i To select, the rell t
0D Detentin0, 1, 2 CP 278}1] ral position in 0, detent in Sg gt?oenc see the relevan
24 25 Kick-out option pressure setting
NN None 14 140 bar 17 170 bar 20 200 bar
12 120 bar 15 150 bar 18 180 bar
13 130 bar 16 160 bar 19 190 bar
26 Zero leakage option
N None A Zero leakage port A B Zero leakage port B
27 Lever options
N None C hi184mm/7.24in L Straight vertical Y Bent 15° horizontal
S Without lever D h214mm/8.42in O Bent 15° vertical Q Bent 30° horizontal
A h109mm/4.3in E h254mm/10in R Bent 30° vertical
B h134mm/5.28in F h304mm/11.97in M Straight horizontal
BONDIOLI 398SDCO0BENOQO - 27-08-2019 21

o)

& PAVESI



LSC90 Instructions for ordering

o8 Closing plate
A Standard B With hitch-control valve
29 Thread port H
0 None N M22x1.51S0 9974 R 7/8"-14 SAEISO 11926
B 1/2" GASISO 1179 J  M22x1.51S0 6149
30 Voltage and connector of the hitch control option
N None Q 6V AMP JUNIOR

22 398SDCO06ENOO - 27-08-2019 BONDIOLI I_:.]
& PAVESI



